7 May 1984
Ml £ G

el

Gradient Descent — BEP—

Chan

rule and Aelta rule

We . reed Ao calewlatke v 4, Wy = -y 26

e

AW

L
Wy can Do W i a
: of ’ M / M W
¢ loyer ) layer K \ayer

o=
‘o . =0 ok
.Cam[,{zl > & Aeuwrsn o e “M&%

©p -—@—\‘ £0)
° ._&‘fl/“:i}ﬁ[f]——’ ° Pk
PY

Mt?k

B T
Ki

Bwkj A - actuql oatput
A edired output
= (tl’k-OFKB 3 (-érk-ork\ fb,v chain ru‘le R
Wy 2 Flglad= § (gl
X 3‘(?&)
=(tpe-op) 1 op
W, .
Ky




\] Ma y 1989

6!‘6\0\\&\'& Descent — REP-
Chain rale and Aelka rule  (zent.)

2) ?__ °Pk = }__ f' (net Pk)
'awk‘i awkj

Bwkj

cResall Mot F(x)= F)[1- £)]
- Aboe wan clam Aule

. ﬂ“ i=t
awh- Buk) J
v
= 2‘. w
l J: kj o?
Bwk

? \Ukj =0 wunbose.  LetR :)'S
dw, Aawe e same wrolue.
T
2 % Wi OP) = oy, :OM A, Wi 0.7,
Wy 3 wa  eptrasted M%Z
z
Lt 2 ?; Wy %y = );_(‘”n°m_ + W\7.°r23 = 3w 0p
aw‘_’- M)lz ”\1
= op
A I ne'tpk = oy




Gradient Descent — BEP-
) Hay 1989 Chawn rule and delta rule (zomk )
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Gradrent Descent — REP —
Chain rule and delta rule (cont.)
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Gradient Descent — BREP —
Chain  rule and delta vule (emt.)
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